




















η =
𝐸𝑒𝑛𝑡𝑟𝑒𝑔𝑎𝑑𝑎

𝐸𝑟𝑒𝑐𝑖𝑏𝑖𝑑𝑎







η𝑇 =
𝑊

𝑄𝑒









1 2

34

















P V



T V

T P























𝜂𝑀𝑇𝐶 > 𝜂𝑀𝑇



η𝑇 =
𝑊

𝑄𝐻



η𝑇 =
𝑊

𝑄𝐻



η𝑇 =
𝑊

𝑄𝐻

η𝑇 =
𝑄𝐻 − 𝑄𝐿
𝑄𝐻



η𝑇 =
𝑊

𝑄𝐻

η𝑇 =
𝑄𝐻 − 𝑄𝐿
𝑄𝐻

η𝑇 =
𝑄𝐻
𝑄𝐻
−
𝑄𝐿
𝑄𝐻



η𝑇 =
𝑊

𝑄𝐻

η𝑇 =
𝑄𝐻 − 𝑄𝐿
𝑄𝐻

η𝑇 =
𝑄𝐻
𝑄𝐻
−
𝑄𝐿
𝑄𝐻

η𝑇 = 1 −
𝑄𝐿
𝑄𝐻





𝑇1 = 𝑇2 = 𝑇𝐻



𝑇1 = 𝑇2 = 𝑇𝐻

Δ𝑈1−2 = 0



𝑇1 = 𝑇2 = 𝑇𝐻

Δ𝑈1−2 = 𝑄𝐻 −𝑊𝑟𝑒𝑎𝑙𝑖𝑧𝑎𝑑𝑜

Δ𝑈1−2 = 0



𝑇1 = 𝑇2 = 𝑇𝐻

Δ𝑈1−2 = 𝑄𝐻 −𝑊𝑟𝑒𝑎𝑙𝑖𝑧𝑎𝑑𝑜

Δ𝑈1−2 = 0

𝑄𝐻 = 𝑊𝑟𝑒𝑎𝑙𝑖𝑧𝑎𝑑𝑜



𝑇1 = 𝑇2 = 𝑇𝐻

Δ𝑈1−2 = 𝑄𝐻 −𝑊𝑟𝑒𝑎𝑙𝑖𝑧𝑎𝑑𝑜

Δ𝑈1−2 = 0

𝑄𝐻 = 𝑊𝑟𝑒𝑎𝑙𝑖𝑧𝑎𝑑𝑜

𝑊𝑟𝑒𝑎𝑙𝑖𝑧𝑎𝑑𝑜 =  
𝑉1

𝑉2

𝑃𝑑𝑉



𝑇1 = 𝑇2 = 𝑇𝐻

Δ𝑈1−2 = 𝑄𝐻 −𝑊𝑟𝑒𝑎𝑙𝑖𝑧𝑎𝑑𝑜

Δ𝑈1−2 = 0

𝑄𝐻 = 𝑊𝑟𝑒𝑎𝑙𝑖𝑧𝑎𝑑𝑜

𝑊𝑟𝑒𝑎𝑙𝑖𝑧𝑎𝑑𝑜 =  
𝑉1

𝑉2

𝑃𝑑𝑉

𝑄𝐻 =  
𝑉1

𝑉2

𝑃𝑑𝑉



𝑃𝑉 = 𝑛𝑅𝑇



𝑃𝑉 = 𝑛𝑅𝑇

𝑃 =
𝑛𝑅𝑇

𝑉



𝑃𝑉 = 𝑛𝑅𝑇

𝑃 =
𝑛𝑅𝑇

𝑉

𝑄𝐻 =  
𝑉1

𝑉2

𝑃𝑑𝑉



𝑃𝑉 = 𝑛𝑅𝑇

𝑃 =
𝑛𝑅𝑇

𝑉

𝑄𝐻 =  
𝑉1

𝑉2 𝑛𝑅𝑇

𝑉
𝑑𝑉

𝑄𝐻 =  
𝑉1

𝑉2

𝑃𝑑𝑉



𝑃𝑉 = 𝑛𝑅𝑇

𝑃 =
𝑛𝑅𝑇

𝑉

𝑄𝐻 =  
𝑉1

𝑉2 𝑛𝑅𝑇

𝑉
𝑑𝑉

𝑄𝐻 = 𝑛𝑅𝑇𝐻 ∗ ln( 𝑉)
𝑽𝟐

𝑽𝟏

𝑄𝐻 =  
𝑉1

𝑉2

𝑃𝑑𝑉



𝑃𝑉 = 𝑛𝑅𝑇

𝑃 =
𝑛𝑅𝑇

𝑉

𝑄𝐻 =  
𝑉1

𝑉2 𝑛𝑅𝑇

𝑉
𝑑𝑉

𝑄𝐻 = 𝑛𝑅𝑇𝐻 ∗ ln( 𝑉)
𝑽𝟐

𝑽𝟏

𝑄𝐻 =  
𝑉1

𝑉2

𝑃𝑑𝑉

𝑄𝐻 = 𝑛𝑅𝑇𝐻 ∗ [ln 𝑉2) − ln(𝑉1 ]



𝑃𝑉 = 𝑛𝑅𝑇

𝑃 =
𝑛𝑅𝑇

𝑉

𝑄𝐻 =  
𝑉1

𝑉2 𝑛𝑅𝑇

𝑉
𝑑𝑉

𝑄𝐻 = 𝑛𝑅𝑇𝐻 ∗ ln( 𝑉)
𝑽𝟐

𝑽𝟏

𝑄𝐻 =  
𝑉1

𝑉2

𝑃𝑑𝑉

𝑄𝐻 = 𝑛𝑅𝑇𝐻 ∗ ln(
𝑉2
𝑉1
)

𝑄𝐻 = 𝑛𝑅𝑇𝐻 ∗ [ln 𝑉2) − ln(𝑉1 ]



𝑃𝑉 = 𝑛𝑅𝑇

𝑃 =
𝑛𝑅𝑇

𝑉

𝑄𝐻 =  
𝑉1

𝑉2 𝑛𝑅𝑇

𝑉
𝑑𝑉

𝑄𝐻 = 𝑛𝑅𝑇𝐻 ∗ ln( 𝑉)
𝑽𝟐

𝑽𝟏

𝑄𝐻 =  
𝑉1

𝑉2

𝑃𝑑𝑉

𝑄𝐻 = 𝑛𝑅𝑇𝐻 ∗ ln(
𝑉2
𝑉1
)

T [K]

𝑄𝐻 = 𝑛𝑅𝑇𝐻 ∗ [ln 𝑉2) − ln(𝑉1 ]





𝑇3 = 𝑇4 = 𝑇𝐿



𝑇3 = 𝑇4 = 𝑇𝐿

Δ𝑈3−4 = 0



𝑇3 = 𝑇4 = 𝑇𝐿

Δ𝑈3−4 = 𝑄𝐿 −𝑊𝑟𝑒𝑐𝑖𝑏𝑖𝑑𝑜

Δ𝑈3−4 = 0



𝑇3 = 𝑇4 = 𝑇𝐿

Δ𝑈3−4 = 𝑄𝐿 −𝑊𝑟𝑒𝑐𝑖𝑏𝑖𝑑𝑜

Δ𝑈3−4 = 0

𝑄𝐿 = 𝑊𝑟𝑒𝑐𝑖𝑏𝑖𝑑𝑜



𝑇3 = 𝑇4 = 𝑇𝐿

Δ𝑈3−4 = 𝑄𝐿 −𝑊𝑟𝑒𝑐𝑖𝑏𝑖𝑑𝑜

Δ𝑈3−4 = 0

𝑄𝐿 = 𝑊𝑟𝑒𝑐𝑖𝑏𝑖𝑑𝑜

𝑊𝑟𝑒𝑐𝑖𝑏𝑖𝑑𝑜 =  
𝑉4

𝑉3

𝑃𝑑𝑉



𝑇3 = 𝑇4 = 𝑇𝐿

Δ𝑈3−4 = 𝑄𝐿 −𝑊𝑟𝑒𝑐𝑖𝑏𝑖𝑑𝑜

Δ𝑈3−4 = 0

𝑄𝐿 = 𝑊𝑟𝑒𝑐𝑖𝑏𝑖𝑑𝑜

𝑊𝑟𝑒𝑐𝑖𝑏𝑖𝑑𝑜 =  
𝑉4

𝑉3

𝑃𝑑𝑉

𝑄𝐿 =  
𝑉4

𝑉3

𝑃𝑑𝑉



𝑃𝑉 = 𝑛𝑅𝑇



𝑃𝑉 = 𝑛𝑅𝑇

𝑃 =
𝑛𝑅𝑇

𝑉



𝑃𝑉 = 𝑛𝑅𝑇

𝑃 =
𝑛𝑅𝑇

𝑉

𝑄𝐿 =  
𝑉4

𝑉3

𝑃𝑑𝑉



𝑃𝑉 = 𝑛𝑅𝑇

𝑃 =
𝑛𝑅𝑇

𝑉

𝑄𝐿 =  
𝑉4

𝑉3 𝑛𝑅𝑇

𝑉
𝑑𝑉

𝑄𝐿 =  
𝑉4

𝑉3

𝑃𝑑𝑉



𝑃𝑉 = 𝑛𝑅𝑇

𝑃 =
𝑛𝑅𝑇

𝑉

𝑄𝐿 = 𝑛𝑅𝑇𝐿 ∗ ln( 𝑉)
𝑽𝟑

𝑽𝟒

𝑄𝐿 =  
𝑉4

𝑉3

𝑃𝑑𝑉

𝑄𝐿 =  
𝑉4

𝑉3 𝑛𝑅𝑇

𝑉
𝑑𝑉



𝑃𝑉 = 𝑛𝑅𝑇

𝑃 =
𝑛𝑅𝑇

𝑉

𝑄𝐿 =  
𝑉4

𝑉3

𝑃𝑑𝑉

𝑄𝐿 =  
𝑉4

𝑉3 𝑛𝑅𝑇

𝑉
𝑑𝑉

𝑄𝐿 = 𝑛𝑅𝑇𝐿 ∗ ln( 𝑉)
𝑽𝟑

𝑽𝟒

𝑄𝐻 = 𝑛𝑅𝑇𝐻 ∗ [ln 𝑉3) − ln(𝑉4 ]



𝑃𝑉 = 𝑛𝑅𝑇

𝑃 =
𝑛𝑅𝑇

𝑉

𝑄𝐿 = 𝑛𝑅𝑇𝐿 ∗ ln(
𝑉3
𝑉4
)

𝑄𝐿 =  
𝑉4

𝑉3

𝑃𝑑𝑉

𝑄𝐿 =  
𝑉4

𝑉3 𝑛𝑅𝑇

𝑉
𝑑𝑉

𝑄𝐿 = 𝑛𝑅𝑇𝐿 ∗ ln( 𝑉)
𝑽𝟑

𝑽𝟒

𝑄𝐻 = 𝑛𝑅𝑇𝐻 ∗ [ln 𝑉3) − ln(𝑉4 ]



𝑃𝑉 = 𝑛𝑅𝑇

𝑃 =
𝑛𝑅𝑇

𝑉

𝑄𝐿 = 𝑛𝑅𝑇𝐿 ∗ ln(
𝑉3
𝑉4
)

𝑄𝐿 =  
𝑉4

𝑉3

𝑃𝑑𝑉

𝑄𝐿 =  
𝑉4

𝑉3 𝑛𝑅𝑇

𝑉
𝑑𝑉

𝑄𝐿 = 𝑛𝑅𝑇𝐿 ∗ ln( 𝑉)
𝑽𝟑

𝑽𝟒

T [K]

𝑄𝐻 = 𝑛𝑅𝑇𝐻 ∗ [ln 𝑉3) − ln(𝑉4 ]



𝑄𝐿 = 𝑛𝑅𝑇𝐿 ∗ ln(
𝑉3
𝑉4
)

𝑄𝐻 = 𝑛𝑅𝑇𝐻 ∗ ln(
𝑉2
𝑉1
) η𝑇 = 1 −

𝑄𝐿
𝑄𝐻



𝑄𝐿 = 𝑛𝑅𝑇𝐿 ∗ ln(
𝑉3
𝑉4
)

𝑄𝐻 = 𝑛𝑅𝑇𝐻 ∗ ln(
𝑉2
𝑉1
) η𝑇 = 1 −

𝑄𝐿
𝑄𝐻

η𝑇 = 1 −
𝑛𝑅𝑇𝐿 ∗ ln(

𝑉3
𝑉4
)

𝑛𝑅𝑇𝐻 ∗ ln(
𝑉2
𝑉1
)



𝑄𝐿 = 𝑛𝑅𝑇𝐿 ∗ ln(
𝑉3
𝑉4
)

𝑄𝐻 = 𝑛𝑅𝑇𝐻 ∗ ln(
𝑉2
𝑉1
) η𝑇 = 1 −

𝑄𝐿
𝑄𝐻

η𝑇 = 1 −
𝑛𝑅𝑇𝐿 ∗ ln(

𝑉3
𝑉4
)

𝑛𝑅𝑇𝐻 ∗ ln(
𝑉2
𝑉1
)

η𝑇𝐶 = 1 −
𝑇𝐿
𝑇𝐻






